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Standard analyses

galaxy map

2dF Galaxy Redshift Survey
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Full-shape analysis



Field-level inference

Fit the whole map, not statistics
This i1s an optimal analysis
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At the moment, not possible for LSS using sims.



Field-level inference

Perturbative forward modeling

IC — nonlinear density field using PT
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Field-level inference

Obuljen, MS, Schneider, Feldmann (2022)

Hydro code




Field-level inference

Obuljen, MS, Schneider, Feldmann (2022)
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Field-level inference

Likelihood and posterior
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Field-level inference

real-space snapshots (mean of 10 realizations), fixed wy,, wy, ns, h

BACCO P, kye = 0.5h/Mpc
e
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Why is this puzzling?

On largest scales dynamics simplifies
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Why is this puzzling?

Cabass, MS, Zaldarriaga (2023)

~+00
5, (k) — / (2726 (ke — pr..) Xn(0: D1, pn) 5(p1) -+ (o)

Model with b1 and A only:
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The exact same error as for P+B analysis
in the same model!
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Why is this puzzling?

Wedm = 0.1189 +0.0026

Ho=732+1.1

field-level
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Preliminary!



It Is interesting to understand this
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